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Question 1

Not yet answered

Mmmdgamn Mogol 3oMImboznl Lobdomgs 300 39MmiEn?

Select one:
O a.83973by;

O b. 8gf3y;
O 07L0087.
O d. gbyoy;

Question 2

Not yet answered

Mol mmal sMsbnbnybmaenmo gbals s33mo@nwal 3max03096@0, 07 Gobin v33mMo@Nws 20 ¥, bmem dmgdgn 860d365cMmmMdS 10 o?

Select one:

a. 200 o;

© b.2y;
c. 10o.

@

O
d.0,1;

O
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https://testing.gtu.ge/course/view.php?id=251
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https://testing.gtu.ge/course/view.php?id=251

Question 3

Not yet answered

Ahodmaysmnogom 3m3YBoEnal 30M33m0 3obmba s sfgmgo dabn domgdo@ninmo godmbsbymady.
Select one:

O a. ®3350mdsb] dsd3s of 8gndamgds 8yalingMow,bab@GmBnlgdnmsc dgnE3ommbs,uc(-0)=uc(+0).

O b. 06ygzomMmmdsdn 360 of dgodmgds ynbngmawe,bsbEmBnlgdnma d30335mmb, i(-0)=i(+0);

O ¢ 06ngg0nMmodsdn godszsma jbo ym3gmoznlb 3ndn3ns,i=const;

O d aRhromdnammmaAsdn asAsasmn mmahn s Aandmans liaammmeo Aansasommls i (-N=N-

Question 4

Not yet answered

gbmonmoas 8ndceg3mmdno dggmogdma R,C fMawal 3o0Mmedg@mgdn: C= n1(a3),R=10 mda. sbgoo 3oMsdg@&mgdal dJmbg HMawdn Mo
cofmmdo dgndmgds gomesdszsma 3MmEgbn Asnczsmmb sbiymydymoe?

Select one:

O a.(12-16) §8;
O b, (3-4) 6;
O (6-8)58;

O d. (10-12) §0.



Question 5

Not yet answered

§hgonl gemgdgb@&gonl 3oMmady@mydns: E=100(3),R2=2(md80n),R1=R3=4(m3d0). Mol yMmols ndnmydomo ©ybo?

E(t Rz
R1
L
R3
Selectlone:
a. 4(s);
O b. 12(s);
(O ¢ 50(s);
O d. 0(s).




Question 6

Not yet answered

d370mo dmg81mo §Mhgenbocm3nlb gobbsbmamym i egbal sdysmgonma 36033673ammos, MmEs begds fMgcal Asmmnszs 8wdn3
do035%9.

Rl=2.6m80 R3 = 6 mdo

o

Select one:
(O a.10;

O b.6,25;
O c. 5o.
O A 5.







